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INSTRUCTIONS.
ANSWER ALL QUESTIONS IN THIS SECTION

SECTION A (50MKS)

1. A matatu charges sh. 120 as fare from town A to town B. it has a capacity of 18 passengers. How much money does it make in one day covering 10 trips with full capacity?										(3mks)








2. Victoria spent ¼ of his net January salary on school fees. She spent ¼ of the remainder on electricity and water bills. She then spent 1/9 of what was left on transport. If she finally had sh. 3400. What was her net January salary?				(3mks)
School fees = ¼
Electricity = ¼ x ¾ = 3/16






3. Using mathematical tables evaluate:
a) 73402										(1mk)





b) 14.52+0.7142									(2mks)






4.  Given that a:b = 1:2 and b:c=3:4. Find a:b:c						(1mk)
a:b:c		(1x3)		(2x3)		(2x4)
1:2		a:		b:		c
3:4		3		6		8

5. Three bells ring at intervals 30 mins, 35 mins and 50 mins. If they ring together at 11:25 p.m on Monday at what time and day will they ring together?			(3mks)








6. The length of minute hand of a clock is 3.5cm. Find the angle it turns through if it sweeps an area of 4.8cm2. (take π=22/7)							(3mks)








7. Express the following as a single fraction.						(3mks)
a) x – 1  +  x + 2  +  x
   2	     4	     5









8. Fifteen tractors each working eight hours a day takes eight days to plough a piece of land. How long would it take 24 tractors each working 10 hours a day to plough the same piece of land?										(3mks)










9. Use bodmas to evaluate:								(4mks)

5 x 6 – 76 ÷ 4 + 27 ÷ 3
    4 – 2 x 4 + 36 ÷ 4











10. Find the length of the major arc in the figure below.					(3mks)

 (
60
o
12cm 
)















11. The sum of three consecutive whole numbers is 84. Find the numbers.		(3mks)








12. Express the following as a fraction.		
a) 0.67˙										(3mks)



b) 2.8˙3˙										(3mks)
Let r = 2.838383
10r=28.383838
100r=283.838383
100r-r=283.838383 – 2.838383
99/99r= 281/99
R= 281/99 or 2 83/99

13. Maureen spent sh. 207 to buy 7 exercise books and 4 pens while Sharon spent sh. 165 to buy 5 exercise books and 5 pens of same type. Find the cost of each item.		(3mks)
7e+4p = 207... x 5
5e + 5p = 165 ... x4
35e +20p = 1035
15/15e	       375/15
E = 25
7 = (25) + 4p =207
175 + 4p = 207
4/4p= 32/4
P=8
The cost of 1 exercise book = 25 and the cost of a pen. 8

14. The sum of interior angles of a regular polygon is 720o. Find the number of sides of the polygon and give its name.								(3mks)
     90
2n = 4 = 8
2/2n= 12/2
N=6
Number of sides = 6. 


15. A lady bought US£5000. From this, she spent US£ 1000 on a return ticket and US£ 1750 while in USA. Upon her return, she sold the remaining dollars. Using the following exchange rate:
Currency 			Buying			Selling
1US Dollar (£)			78.4133		78.4744
a) How much did she pay to the bank in Kenya shillings to yet the US£ 5000? 
(2mks)
		




b) How much in Kenya shilling did she get after selling the remaining amount to the bank?										(2mks)














16. Solve the following pair of simultaneous equation graphically.			(6mks)

i. 2x – y =3
ii. x + 2y = 14







17.   A metallic cuboids measuring 16cm by 8cm by 4cm was melted. The material was used to make a cube. What is the length of the cube?					(3mks)








SECTION II (20MKS)
Answer any 3 questions.
18.  The travel timetable below shows the departure and arrival times for a bus flying between two towns M and R, 300km apart.
	Town 
	Arrival 
	Departure 

	M 
	
	0830h

	N 
	1000h
	1020h

	P 
	1310h
	1340h

	Q 
	1510h
	1520h

	R 
	1600h
	



a. How long does the bus take to travel from town M to N?			(2mks)



b. What time does it take at town P?						(2mks)




c. At what time does it arrive at town R in 12hr clock system?			(2mks)




d. What is its average speed for the whole journey?				(4mks)














19. Daniel spent ¼ of her net January salary on school fees. She spent ¼ of the remainder on electricity and water bills. She then spent 1/9 of what was left on transport. If she finally has sh. 3400.
a. What fraction of her January salary was spent on electricity and water bill?	(2mks)


b. What fraction remained after she spent on fees, electricity and water bills?	(2mks)


c. What fraction was spent on transport?					(2mks)



d. Calculate her net January salary.						(4mks)






20. Three warships A, B and C are at sea such that ship B is 500km on a bearing N60E from ship A. Ship C is 700km from ship B on a bearing of 120o. An enemy ship D is sighted 800km due south of ship B.
a. Taking a scale of 1cm to represent 100km, locate the positions of ships A, B, C and D.										(4mks)













b. Find the bearing of:
i. Ship A from D.							(1mk)






ii. Ship D from C.							(1mk)




c. Use scale drawing to determine the distance between:
i. D and A								(1mk)




ii. C and D								(1mk)




d. Measure angle DAC and angle BCD.						(2mks)








21. A surveyor recorded the measurements of a field in a field book as shown below. Using line AB=260m as the baseline:
	
	B 
	

	
	170
	

	E50
	140
	

	
	110
	C60 

	F80
	100
	

	
	30
	B50

	
	A 
	



a. Draw the map of the field.							(4mks)


















b. Find the area of the field in hectares.						(6mks)




[bookmark: _Hlk144467269][bookmark: _Hlk144467270]Contact 0724333200/0795491185 for marking schemes or order online at www.kenyaeducators.co.ke

©2023 F


orm 1 End Year Exams


 


FORM 


1


 


 


 


Contact 0724333200/0795491185 for marking schemes or order online at 


www.kenyaeducators.co.ke


 


NAME:.........................................................................................CLASS:...........ADM NO:.......


...


 


MATHEMATICS 


 


FORM 1


 


END OF YEAR EXAM


 


TIME: 2 HRS


 


 


T


HE STANDARD MEASURE SERIES FORM 1 


END OF YEAR EXAMS 2023.


 


 


 


INSTRUCTIONS


.


 


ANSWER ALL QUESTIONS IN THIS SECTION


 


 


SECTION A (50MKS)


 


 


1.


 


A 


matatu charges sh. 120 as fare from town A to town B. it has a capacity of 18 


passengers. How much money does it make in one day covering 10 trips with full 


capacity?


 


 


 


 


 


 


 


 


 


 


(3mks)


 


 


 


 


 


 


 


 


 


2.


 


Victoria spent ¼ of his net January salary on school fees. She sp


ent ¼ of the remainder 


on electricity and water bills. She then spent 


1


/


9


 


of what was left on transport. If she 


finally had sh. 3400. What was her net January salary?


 


 


 


 


(3mks)


 


School fees = ¼


 


Electricity = ¼ x ¾ = 


3


/


16


 


 


 


 


 


 


 


3.


 


Using mathematical 


tables evaluate:


 


a)


 


7340


2


 


 


 


 


 


 


 


 


 


 


(1mk)


 


 


 


 


 


 




©2023 F orm 1 End Year Exams  FORM  1  

    Contact 0724333200/0795491185 for marking schemes or order online at  www.kenyaeducators.co.ke   NAME:.........................................................................................CLASS:...........ADM NO:....... ...   MATHEMATICS    FORM 1   END OF YEAR EXAM   TIME: 2 HRS     T HE STANDARD MEASURE SERIES FORM 1  END OF YEAR EXAMS 2023.       INSTRUCTIONS .   ANSWER ALL QUESTIONS IN THIS SECTION     SECTION A (50MKS)     1.   A  matatu charges sh. 120 as fare from town A to town B. it has a capacity of 18  passengers. How much money does it make in one day covering 10 trips with full  capacity?                     (3mks)                   2.   Victoria spent ¼ of his net January salary on school fees. She sp ent ¼ of the remainder  on electricity and water bills. She then spent  1 / 9   of what was left on transport. If she  finally had sh. 3400. What was her net January salary?         (3mks)   School fees = ¼   Electricity = ¼ x ¾ =  3 / 16               3.   Using mathematical  tables evaluate:   a)   7340 2                     (1mk)            

